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@ 6cm @ 8cm @mcm @ 12cm ® 14cm

AB =38+2-9=10(cm)




3. YA ABCD 9 sx, 2y 9] & A=
2 ude A7

@ 2x=20°, y=20° @éx=30°,ly=20°
® 1x=20°,/y=130° @ 1x=30°, 1y=30°

® x=30°, 1y=40°

(ADB = /x =30°
ABCD A /x4 £y+130° =180°, £y = 180°-30°—-130° =
20°
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@ 36cm, 16cm (@)18cm, 16cm ® 16cm, 36cm
@ 36cm, 32cm ® 16cm, 18cm

x=36+2=18(cm)




@® 11,65° @ 7,65°

@ 115°,7 ®)11,115°

® 115°,11

AB//DC , AB =DC = 7(cm) 0|22
OABCD & H At oltt,
sox=11,/y = 180° — 65° = 115°




6. o5 2™ 2 FPAEY ABCD oA A D
£ 2= YEhyE?

X, Ly

@O /x=100° sy =50° @ /x=100°, 2y =60°
® /x=110° sy =50° @ /x=110° sy =60°
@Ax =120°, 2y = 50°

AB//CD °]|2& /ABD = /CDB, sy =50° ©]1!
Lx = Ly +70° /x = 50° 4 70° = 120° o]},
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LA = /C, /B = /DSl oABCD °f| 4]

(A=/C=a

s

/B=/D=0pzt
2a + 2b = 360 °
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OABCD + HPAHPolL M, N 2 F+ A
HAD ¢} BC 9] S3o|th. ACQN 2] o]
7} 4em? 4 o], AAND 2] Ho|=?

@ 8cm? @ 10cm? @ 12cm?

@®)16cm? ® 24cm?

ANCD = 2 x ACQN

ANCD = AMND

AAND = 2 x AMND 0|2 &

AAND = 4 x ACQN = 16(cm?) ©|t}.




APt g3AHAS ABCD © YFo] 3t A
oltt, WPAHAF ABCD 2] Hol7l 600]1
AABP 9] Yo7} 20 wf, APCD 9] Yl o]

9

@0 @ 20 ® 30
@ 40 ® 50

DABCD = 2 x (AABP + aPCD)
60 = 2 x (20 + APCD)
- APCD = 10
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11. ohg 297 2 0ABCD 7} BalAbAgo] Hu ok x, y o] 3he?

15+2y~
/ \
8:1:—4i7\; /2/$+y
B~~17---C
O x=4y=1 @ x=3,y=1 ® x=4y=1

@x:5,y:1 ® x=5y=2

B ‘
154+2y =17, 2y =2

sLy=1

3x—4=2x+1

SLX=09




12. WA ABCD o4 AE BESH AR DF o E_D

7} /B 9} /D 9] o] 5B W, BFD o] I XbO'
7129
B F

D 60° @ 80° ® 100°
@120° ® 140°

B ~

AHZFE ABCD 7} HiAEE 0|22 /BAD + /ABC = 180°
/ABC = 2/EBF ©]|E2 = /EBF = 60° ©|t}.

AtZtd BFDE &= H A E 0|22 /EBF + /BFD = 180°
. /BFD = 120°




